
1, 542—310 = 232        

2. 687—234 = 453 

3. 345—213 = 132 

4. 589—342 = 247 

5. 923—471 = 452 

6. 654—235 = 419 

7. 828—674 = 154 

8. 781—392 = 389 
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342 

456 

426 

426 

129 

Write the answers into your 

book 

Show all working out in your 

book. 

Pick 3 questions and  

explain how you solved them. 

10 HP for using ‘subtrahend’, 

difference and  ‘minuend’ in 

your answers. 



1, 542—310 = 232        

2. 687—234 = 453 

3. 345—213 = 132 

4. 589—342 = 247 

5. 923—471 = 452 

6. 654—235 = 419 

7. 828—674 = 154 

8. 781—392 = 389 
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Answers 


